

International Journal of Statistics and Applied Mathematics

ISSN: 2456-1452
 Maths 2016; 1(4): 45-51
 © 2016 Stats & Maths
www.mathsjournal.com
 Received: 18-09-2016
 Accepted: 26-10-2016

Raj Kishor Sharma
 Research Scholar, Veer Kunwar
 Singh University, Ara, Bihar,
 India

Generating relations involving hypergeometric function by means of integral operators

Raj Kishor Sharma

Abstract

The nucleus of excavation is based on the results which involve exponential functions. The results of Exton and Pathan & Yasmeen are used with a view to obtain multivariable generating functions which are partly bilateral and partly unilateral.

Keywords: Generating functions, hypergeometric function Lie algebras, Laguerre polynomials

Introduction

It should be noticed that the exponential function, which is a special case of the generalized hypergeometric function ${}_pF_q$ and $p=q=0$, appears in many different situations; for instance, in conformal mapping theory ^[1], in automorphic function theory ^[1], in the theory of representation of Lie algebras, in Physics and in the theory of differential equations ^[2]. The leading example of partly bilateral and partly unilateral generating function in terms of exponential function, is doubtless the result of Exton ^[3].

$$\exp\left(s + t - \frac{xt}{s}\right) = \sum_{M=-\infty}^{\infty} \sum_{N=0}^{\infty} S^M t^N F_N^M(x), \dots \tag{1.1}$$

Where

$$F_N^{(M)}(x) = \frac{{}_1F_1[-N; M+1; x]}{M! N!} = \frac{L_N^{(M)}(x)}{(M+N)!} \dots \tag{1.2}$$

and $L_N^{(M)}(x)$ are the classical Laguerre polynomials ^[4]

Pathan and Yasmeen [5] modified Exton's result (1.1) by defining $M^* = \max\{0, -M\}$ and

$$F_N^{(M)}(x) = \frac{L_N^{(M)}(x)}{(M+N)!} = \frac{1}{N!} \sum_{r=M^*}^N \frac{(-N)_r x^r}{(M+r)! r!}, \text{ if } N \geq M^*$$

= 0, if $0 \leq N < M^*$ (i.e. if $M+N < 0 \leq N$).

So that all factorials of negative integers occurring in this definition have meaning. Thus we may rewrite equation (1.1) in the form

$$\exp\left(s + t - \frac{xt}{s}\right) = \sum_{M=-\infty}^{\infty} \sum_{N=0}^{\infty} \frac{S^M t^N}{(M+N)!} L_N^M(x). \dots \tag{1.3}$$

This result has attracted a great deal of interest by several researchers including (for example) Pathan and Yasmeen ^[6, 7, 5]. Goyal and Gupta ^[8], Srivastava *et al.* ^[9, 10], Gupta *et al.* ^[11],

sCorrespondence
Raj Kishor Sharma
 Research scholar, Veer Kunwar
 Singh University, Ara, Bihar,
 India

Kamarujjama *et al.* [12], and Pathan and Subuhi [13]. Works on Exton’s result inspired us to use integral operators to obtain more generating functions, which are partly bilateral and partly unilateral. On account of many properties of generating functions which are partly bilateral and partly unilateral, an increasing number of such problems and properties are now capable of being elegantly represented by their use. A number of such generating functions are obtained in this paper.

In 2, an operator Ω is explored and some generating functions are obtained by making use of results of Exton [38] and Pathan and Yasmeen [5]. Further, a number of multiple series of hypergeometric functions are obtained in Section 5.3.

2. Integral Operator Ω and Generating Functions

If we define the integral operator Ω by

$$\Omega_{\lambda,\mu} \{ \} = \int_0^1 x^{\lambda-1} (1-x)^{\mu-1} \{ \} dx,$$

then rewriting the results ([14]; p. 36(6)), ([15];p.192 (50), with y=1), ([15]; p.193 (51), with y=1) in terms of this operator, we have the results

$$\Omega_{\lambda,\mu} \{ e^{zx} \} = \frac{\Gamma(\lambda)\Gamma(\mu-\lambda)}{\Gamma(\mu)} {}_1F_1 \left[\begin{matrix} \lambda; \\ \mu; \end{matrix} z \right], \text{ Re}(\mu) > \text{Re}(\lambda) > 0 \quad \dots \tag{2.1}$$

$$\Omega_{\lambda,\mu} \{ L_n^{(\alpha)}(\beta x) \} = \frac{\Gamma(\lambda)\Gamma(\mu)(\alpha+1)_n}{n!\Gamma(\lambda+\mu)} {}_2F_2 \left[\begin{matrix} -n, \lambda; \\ \alpha+1, \lambda+\mu; \end{matrix} \beta \right] \quad \dots \tag{2.2}$$

$$\text{Re}(\lambda). \text{Re}(\mu) > 0.$$

and

$$\Omega_{\lambda,\mu} \{ L_n^{(\alpha)}(\beta x) \} = \frac{\Gamma(\lambda)\Gamma(\mu)(\alpha+1)_n}{n!\Gamma(\lambda+\mu)} {}_2F_2 \left[\begin{matrix} \alpha+n+1, \lambda; \\ \alpha+1, \lambda+\mu; \end{matrix} -\beta \right] \dots \tag{2.3}$$

$$\text{Re}(\lambda). \text{Re}(\mu) > 0.$$

Starting from the result (5.2.1) with z replaced $s+t-\frac{yt}{s}$, we have

$$\Omega_{\lambda,\mu} \left\{ \exp\left(s+t-\frac{yt}{s}\right)x \right\} = \frac{\Gamma(\lambda)\Gamma(\mu-\lambda)}{n!\Gamma(\mu)} {}_1F_1 \left[\begin{matrix} \lambda; \\ \mu; \end{matrix} s+t-\frac{yt}{s} \right]$$

$$\text{Re}(\mu) > \text{Re}(\lambda) > 0.$$

Now using the results (1.3) (2.1) and (2.2), we can establish the following result

$${}_1F_1 \left[\begin{matrix} \lambda; \\ \mu; \end{matrix} s-t\frac{yt}{s} \right] = \sum_{M=-\infty}^{\infty} \sum_{N=M^*}^{\infty} \frac{(\lambda)_{M+N} S^M t^N}{(\mu)_{M+N} M! N!} {}_2F_2 \left[\begin{matrix} -N, M+N+\lambda; \\ M+1, M+N+\mu; \end{matrix} y \right] \dots \tag{2.4}$$

$$\text{Re}(\lambda), \text{Re}(\mu) > 0.$$

Further letting $s=t=\frac{y}{2}$, one has the following closure relation

$$1 = \sum_{M=-\infty}^{\infty} \sum_{N=M^*}^{\infty} \frac{\left(\frac{y}{2}\right)^{M+N} (\lambda)_{M+N}}{(\mu)_{M+N} M! N!} {}_2F_2 \left[\begin{matrix} -N, M+N+\lambda; \\ M+1, M+N+\mu; \end{matrix} y \right] \dots \tag{2.5}$$

$$\text{Re}(\lambda), \text{Re}(\mu) > 0.$$

Which for $\lambda=\mu$, can be written as,

$$1 = \sum_{M=-\infty}^{\infty} \sum_{N=M^*}^{\infty} \frac{\left(\frac{y}{2}\right)^{M+N}}{M!N!} {}_1F_1\left[\begin{matrix} -N; \\ M+1; \end{matrix} y\right] \dots \tag{2.6}$$

Again, taking in (2.1) for $z = s + t - y - \frac{yt}{s}$ we have

$$\Omega_{\lambda,\mu}\left\{\exp\left(s + t - y - \frac{yt}{s}\right)x\right\} = \frac{\Gamma(\lambda)\Gamma(\mu - \lambda)}{\Gamma(\mu)} {}_1F_1\left[\begin{matrix} \lambda; \\ \mu; \end{matrix} s + t - y - \frac{yt}{s}\right],$$

$$\text{Re}(\mu) > \text{Re}(\lambda) > 0.$$

Now using the above result, together with the results (2.3) and (1.3), we are led to

$${}_1F_1\left[\begin{matrix} \lambda; \\ \mu; \end{matrix} s + t - y - \frac{yt}{s}\right] = \sum_{M=-\infty}^{\infty} \sum_{N=M^*}^{\infty} \frac{(\lambda)_{M+N} S^M t^N}{(\mu)_{M+N} M!N!} {}_2F_2\left[\begin{matrix} M + N + 1, M + N + \lambda; \\ M + 1, M + N + \mu; \end{matrix} -y\right], \dots \tag{2.7}$$

$$\text{Re}(\lambda), \text{Re}(\mu) > 0.$$

Which for $\lambda = \mu$, yields

$$\exp\left(s + t - y - \frac{yt}{s}\right) = \sum_{M=-\infty}^{\infty} \sum_{N=M^*}^{\infty} \frac{S^M t^N}{M!N!} {}_2F_2\left[\begin{matrix} M + N + 1 \\ M + 1; \end{matrix} -y\right] \dots \tag{2.8}$$

For

$$s = t = \frac{y}{2}$$

Equation (2.7) reduces to

$${}_1F_1\left[\begin{matrix} \lambda; \\ \mu; \end{matrix} -y\right] = \sum_{M=-\infty}^{\infty} \sum_{N=M^*}^{\infty} \frac{(\lambda)_{M+N} \left(\frac{y}{2}\right)^{M+N}}{(\mu)_{M+N} M!N!} {}_2F_2\left[\begin{matrix} M + N + 1, M + N + \lambda; \\ M + 1, M + N + \mu; \end{matrix} -y\right] \dots \tag{2.9}$$

$$\text{Re}(\lambda), \text{Re}(\mu) > 0.$$

3. Generating Functions of Several Variables

The method of derivation of the generating functions involves the following results

A result of Pathan ([16]; p.52(5))

$$\int_0^\infty t^{\lambda-1} e^{-\left(z+\frac{p}{2}\right)t} W_{k,\mu}(pt) \prod_{i=1}^n (M_{k_i, m_i - \frac{1}{2}}(x_i t)) dt = \frac{\Gamma(A + \mu)\Gamma(A - \mu) p^{\mu + \frac{1}{2}}}{\Gamma\left(A - k + \frac{1}{2}\right) \delta^{\lambda + \mu}} \prod_{i=1}^n (x_i^{m_i})$$

$$\times F_P^{(n+1)}\left[\begin{matrix} A + \mu : A - \mu; m_1 - k_1; m_2 - k_2; \dots; m_n - k_n; \mu - k + \frac{1}{2}; \\ \frac{x_1}{\delta}, \frac{x_2}{\delta}, \dots, \frac{x_n}{\delta}, \frac{(\delta - p)}{\delta} \\ A - k + \frac{1}{2} : -; 2m_2; \quad 2m_2; \dots; 2m_n; \quad -; \end{matrix}\right], \dots \tag{3.1}$$

Where

$$A = \frac{1}{2} + \lambda + \sum_{i=1}^n m_i, \quad \delta = z + p + \frac{1}{2} \sum_{i=1}^n x_j, \quad \text{Re}(A + \mu) > 0, \quad \text{Re}\left(2z + p - \sum_{i=1}^n x_1 \pm p \pm \sum_{i=1}^n x_1\right) > 0,$$

and $F_p^{(n+1)}$ is a generalized hypergeometric function of $(n+1)$ variable [16],

$$F_p^{(n+1)} \left[\begin{matrix} a : b; d_1; d_2; \dots; d_n; d; \\ e : -; e_1; e_2; \dots; e_n; -; \end{matrix} \middle| z_1, z_2, \dots, z_n, z \right] = \sum_{s_1, s_2, \dots, s_n, r=0}^{\infty} \frac{(a)_{r+s_1+s_2+\dots+s_n} (b)_{s_1+s_2+\dots+s_n} (d)_r \prod_{k=1}^n ((d_k)_{s_k} (z_k)^{N_k}) z^r}{(c)_{r_1+s_1+s_2+\dots+s_n} \prod_{k=1}^n ((e_k)_{s_k} (s_k)!) r!} \dots \quad (3.2)$$

Where $|z|, |z_k| < 1, k \in \{1, 2; \dots, n\}, (a)_n = \frac{\Gamma(a+n)}{\Gamma(a)}$

And by analytic continuation, none of the quantities c, e_1, e_2, \dots, e_n are zero or a negative integer. The result of Pathan and Yasmeen [7]

$$L_{m_1}^{(a_1)}(x_1) L_{m_2}^{(a_2)}(x_2) L_{m_3}^{(a_3)}(x_3) = \frac{(1+a_1)_{m_1} (1+a_2)_{m_2} (1+a_3)_{m_3}}{m_1! m_2! m_3!} \times \sum_{M=-\infty}^{\infty} \sum_{N=M^*}^{\infty} \frac{(-m_1)_M (-m_2)_N x_1^M x_2^N}{(1+a_1)_M (1+a_2)_N M! N!}$$

$$\times {}_4F_4 \left[\begin{matrix} -m_1 + M, -a_2 - N, -m_3, -N \\ 1 - a_1 + M, 1 + m_2 - N, 1 + a_3, M + 1; \end{matrix} \middle| \frac{-x_1 x_3}{x_2} \right] \dots \quad (3.3)$$

Expressing Laguerre polynomial $L_m^{(a)}(x)$ in terms of confluent hypergeometric function ${}_1F_1$ using (5.1.2) and further using the relation between ${}_1F_1$ and the Whittaker's function of the first kind $M_{k,\mu}$ ([130];p.39(23))

$$M_{k,\mu}(z) = z^{\mu+\frac{1}{2}} \exp\left(-\frac{z}{2}\right) {}_1F_1\left[\mu - k + \frac{1}{2}; 2\mu + 1; z\right],$$

We see that the Laguerre polynomial $L_m^{(a)}(x)$ is related to the Whittaker function $M_{k,\mu}(x)$ by the equation

$$L_m^{(a)}(x) \left(\frac{m+a}{m!a!}\right) \exp\left(\frac{x}{2}\right) x^{\frac{a+1}{2}} M_{\frac{1}{2}(a+1)m, \frac{a}{2}}(x) \dots \quad (3.4)$$

Now, replacing x_1, x_2 and x_3 by x_1u, x_2u and x_3u , respectively in (3.3) and multiplying both the sides by

$$\prod_{i=1}^n L_{m_i}^{(a_i)}(x_i u) \exp\left(-\left(z + \frac{p}{2}\right)u\right) M_{k,\mu}(pu),$$

Further using (3.4) to replace each of the Laguerre polynomials, and finally integrating with respect to u from zero to infinity, we arrive at

$$\prod_{i=1}^n \left(\frac{x_i^{a_i+1}}{2}\right) \int_0^\infty u^{\frac{-1}{2}(\sum_{i=1}^n a_i+n)} e^{-\left(z+\frac{1}{2}(p-\sum_{i=1}^n x_i)\right)u} W_{k,\mu}(pu) \prod_{i=1}^n M_{\frac{1}{2}(a_i+1)+m_i, \frac{a_i}{2}}(x_i u) du$$

$$\prod_{i=1}^n \left(\frac{x_i^{a_i+1}}{2}\right) \times \sum_{M=-\infty}^{\infty} \sum_{N=M^*}^{\infty} \sum_{S=0}^{\infty} \frac{(-m_1)_M (-m_2)_N (-m_1+M)_S}{(1+a_1)_M (1+a_2)_N (1+a_2)_N (1+a_1+M)_S} \times$$

$$\frac{(-a_2-N)_S (-m_3)_S (-N)_S x_1^M x_2^N \left(\frac{-x_1 x_3}{x_2}\right)^S}{(1-m_2-N)_S (1+a_3)_S (M+1)_S M! N! S!} \times \int_0^\infty u^{M+N+S-\frac{1}{2}(\sum_{i=4}^n a_i+n-3)} e^{-\left(z+\frac{1}{2}(p-\sum_{i=4}^n x_i)\right)u} W_{k,\mu}(pu) \prod_{i=4}^n M_{\frac{1}{2}(a_i+1)+m_i, \frac{a_i}{2}}(x_i u) du \dots \quad (3.5)$$

Now using result (5.3.1), we get, after some simplifications

$$\begin{aligned}
 & F_P^{(n+1)} \left[\begin{array}{c} \frac{3}{2} + \mu : \frac{3}{2} - \mu; -m_1; m_2; \dots; -m_n; \mu - k + \frac{1}{2}; \\ \frac{x_1}{z+p} \cdot \frac{x_2}{z+p}, \dots, \frac{x_n}{z+p} \cdot \frac{z}{z+p} \\ 2-k : \quad -; \quad a_1+1; \quad a_2+1; \dots; \quad a_n+1; \quad -; \end{array} \right] \\
 &= \sum_{M=-\infty}^{\infty} \sum_{N=M^*}^{\infty} \sum_{S=0}^{\infty} \frac{(-m_1)_M (-m_2)_N (-m_1+M)_S (-a_2-N)_S (-m_3)_S}{(1+a_1)_M (1+a_2)_N (1+a_1+M)_S (1+m_2-N)_S (1+a_3)_S} \\
 & \times F_P^{(n+1)} \left[\begin{array}{c} \frac{3}{2} + \mu + M + N + s : \frac{3}{2} - \mu + M + N + s; -m_4; -m_5; \dots; -m_n; \mu - k + \frac{1}{2}; \\ \frac{x_4}{z+p} \cdot \frac{x_5}{z+p}, \dots, \frac{x_n}{z+p} \cdot \frac{z}{z+p} \\ 2-k + M + N + s : \quad -; \quad a_4+1; \quad a_5+1; \dots; \quad a_n+1; \quad -; \end{array} \right] \dots \quad (3.6) \\
 & \operatorname{Re}\left(\frac{3}{2} \pm \mu\right) > 0, \operatorname{Re}(z+p) > 0, |z|, |x| < 1, i = 1, 2, \dots, n.
 \end{aligned}$$

To make the above result more proper, we replace

$\frac{x_1}{z+p} \cdot \frac{x_2}{z+p}, \dots, \frac{x_n}{z+p}$ and $\frac{z}{z+p}$ by x_1, x_2, \dots, x_n and z respectively and also $\frac{3}{2} + \mu$ and $2-k$ by a and b respectively to get

$$\begin{aligned}
 & F_P^{(n+1)} \left[\begin{array}{c} a : 3-a; -m_1; -m_2; \dots; -m_n; a+b-3; \\ x_1, x_2, \dots, x_n, z \\ b : \quad -a_1+1; \quad a_2+1; \dots; \quad a_n+1; \quad -; \end{array} \right] \\
 &= \sum_{M=-\infty}^{\infty} \sum_{N=M^*}^{\infty} \sum_{S=0}^{\infty} \frac{(-m_1)_M (-m_2)_N (-m_1+M)_S (-a_2-N)_S (-m_3)_S}{(1+a_1)_M (1+a_2)_N (1+a_1+M)_S (1+m_2-N)_S (1+a_3)_S} \times \frac{(-N)_S (a)_{M+N+N} (3-a)_{M+N+S} x_1^M x_2^N \left(\frac{-x_1 x_3}{x_2}\right)^S}{(M+1)_S (b)_{M+N+S} M! N! S!} \\
 & F_P^{(n-2)} \left[\begin{array}{c} a+M+N+s : 3-a+M+N+s; -m_4; -m_5; \dots; -m_n; a+b-3; \\ x_4, x_5, \dots, x_n, z \\ b+M+N+s : \quad -; \quad a_4+1; \quad a_5+1; \dots; \quad a_n+1; \quad -; \end{array} \right], \\
 & \operatorname{Re}(a) > 0, |z|, |x_1| < 1, i = 1, 2, \dots, n. \quad \dots \quad (3.7)
 \end{aligned}$$

Special Cases

I. Taking $a=b$ and $z \rightarrow 0$ in equation (3.7) and replacing $3-a$ by a , we get

$$\begin{aligned}
 & F_A^{(n)} [a, -m_1, -m_1, \dots, -m_n, a_1+1, a_2+1, \dots, a_n+1; x_1, x_2, \dots, x_n] \\
 &= \sum_{M=-\infty}^{\infty} \sum_{N=M^*}^{\infty} \sum_{S=0}^{\infty} \frac{(-m_1)_M (-m_2)_N (-m_1+M)_S (-a_2-N)_S (-m_3)_S}{(1+a_1)_M (1+a_2)_N (1+a_1+M)_S (1+m_2-N)_S (1+a_3)_S} \\
 & \times \frac{(-N)_S (a)_{M+N+N} x_1^M x_2^N \left(\frac{-x_1 x_3}{x_2}\right)^S}{(M+1)_S M! N! S!} \times F_P^{(n-3)} [a+M+N+s, -m_4, -m_5, \dots, -m_n, a_4+1, a_5+1; \dots; a_n+1; x_4, x_5, \dots, x_n]
 \end{aligned}$$

$$|x_1| + |x_2| + \dots + |x_n| < 1, \dots \tag{3.8}$$

Where $F_A^{(n)}$ is Lauricella function ^[17] of n variables, defined as follows

$$F_A^{(n)} [a, b_1, b_2, \dots, b_n, c_1, c_2, \dots, c_n, x_1, x_2, \dots, x_n] \\ = \sum_{m_1, m_2, \dots, m_n=0}^{\infty} \frac{(a)_{m_1+m_2+\dots+m_n} (b_1)_{m_1} (b_2)_{m_2} (b_3)_{m_3} \dots (b_n)_{m_n} (x_1)^{m_1} (x_2)^{m_2} \dots (x_n)^{m_n}}{(c_1)_{m_1} (c_2)_{m_2} \dots (c_n)_{m_n} m_1! m_2! \dots m_n!} \\ |x_1| + |x_2| + \dots + |x_n| < 1 \dots \tag{3.9}$$

Further for n=3, equation (3.8) reduces to

$$F_A^{(3)} [a, -m_1, -m_2, -m_3; a_1 + 1, a_2 + 1, a_3 + 1; x_1, x_2, x_3] = \sum_{M=-\infty}^{\infty} \sum_{N=M^*}^{\infty} \frac{(-m_1)_M (-m_2)_N (a)_{M+N} x_1^M x_2^N}{(1+a_1)_M (1+a_2)_N M! N!} \\ \times_s F_4 \left[\begin{matrix} -m_1 + M, -a_2 - N, -m_3, -N, a + M + N; \\ -x_1 x_3 \\ x_2 \\ 1 + a_1 + M, 1 + M_2 - N; 1 + a_3, M + 1; \end{matrix} \right] \dots \tag{3.10}$$

II. For n=3 equivalently for $x_4 = x_5 = \dots = x_n = 0$, equation (3.7) gives us

$$F_P^{(4)} \left[\begin{matrix} a :: 3 - a; -; -; - : -m_1; -m_2; -m_3; a + b - 3; \\ x_1, x_2, x_3, z \\ b :: -; -; -; - : a_1 + 1; a_2 + 1; a_3 + 1; -; \end{matrix} \right] \\ = \sum_{M=-\infty}^{\infty} \sum_{N=M^*}^{\infty} \sum_{r=0}^{\infty} \frac{(-m_1)_M (-m_2)_N (a)_{M+N} (3-a)_{M+N}}{(1+a_1)_M (1+a_2)_N (b)_{M+N}} \times \frac{(a+M+N)_r (a+b-3)_r x_1^M x_2^N z^r}{(b+M+1)_r M! N! r!} \\ \times_6 F_5 \left[\begin{matrix} -m_3 - N, -m_1 + M, a + M + N + r, 3 - a + M + N, -a_2 - N; \\ -x_1 x_3 \\ x_2 \\ 1 + a_3, 1 + a_1 + M, 1 + m_2 - N, 1 + M, b + M + N + r; \end{matrix} \right] \dots \tag{3.11}$$

Where $F_P^{(4)}$ hypergeometric function of four variables is considered by Pathan ^[18] and is defined as follows

$$F_P^{(4)} \left[\begin{matrix} a :: b; -; -; - : d; e; f; g; \\ u, x, y, z \\ e :: -; -; -; - : d'; e'; f'; -; \end{matrix} \right] = \sum_{m,n,p,q=0}^{\infty} \frac{(a)_{m+n+p+q} (b)_{m+n+p} (d)_m (e)_n (f)_p (g)_q u^m x^n y^p z^q}{(c)_{m+n+p+q} (d')_m (e')_n (f')_p m! n! p! q!} \dots \tag{3.12}$$

Conclusion

We have derived (3.12) the nucleus of excavation is based on the results which involve exponential functions. The results of Exton and Pathan & Yasmeen are used with a view to obtain multivariable generating functions which are partly bilateral and partly unilateral.

References

1. Yoshida M. Fuchsian Differential Equations, Viseweg-Verlag, Wiesbaden 1987.
2. Iwasaki K, Kimura H, Steimoura S, Yoshida M. From Gauss to Painleave, A modern theory of special functions, Braunschweig, Vieweg 1991.
3. Exton H. A new generating function for the associated Laguerre Polynomials and resulting expansions, Janabha 1983;13:147-149.
4. Rainville ED. *Special functions*, Macmillan Co., New York; Reprinted by Chelsea Publ. Co., Bronx, New York 1960.

5. Pathan Yasmeen MA. On partly bilateral and partly unilateral generating functions; J Austral. Math. Soc. Ser. B 1986;28:240-245.
6. Pathan MA. New generating functions for a triple hypergeometric series, SIMON STEVIN, A Quart. J Pure and Applied Mathematics 1987;61(2):171-177.
7. Pathan Yasmeen MA. A note on a new generating relation for a generalized hypergeometric function, Jour. Math. Phy. Sci 1988;22(1):1-7.
8. Goyal SP, Gupta R. Certain double generating functions for the generalized hypergeometric functions, Bulletin Institute of Mathematics, Academia Sinica 1989;17(4):351-359.
9. Srivastava HM, Pathan MA, Kamamujjama M. Some unified presentations of the generalized Voigt functions, Comm. Appl. Anal 1988;2:49-64.
10. Srivastava HM, Pathan MA, Bin-Saad MG. A certain class of generating functions involving bilateral series, Preprint.
11. Gupta KC, Goyal SP, Mukherjee R. Some results on generalized Voigt functions. J Austral. Math. Soc. Ser. B (to appear).
12. Hussain MA, Kamrujjama M, Aftab F. On partly bilateral and partly unilateral generating functions, Soochow JI of mathematical, China 1997;23(4):359-363.
13. Pathan MA, Khan Subuhi. Generating relations involving hypergeometric functions by means of integral operators. Preprint.
14. Srivastava HM, Manocha HL. A treatise on generating functions, Ellis Horwood Ltd., Halsted Press, John Wiley and Sons, Chichester, New York 1984.
15. Erdelyi A, Magnus W, Oberhettinger F, Tricomi FG. Tables of Integral Transforms, McGraw-Hill, New York, Toronto and London 1954, 2.
16. Pathan MA. On a generalized hypergeometric function of $(n+1)$ variables, J Nat. Chiastung Uni 1979;6:51-59.
17. Lauricella G. Sulle fuuioni inpergeometrichs a SIU Variabilli, Rend. Cire. Mat. Palermo 1893;7:111-158.
18. Brafman F. Some generating functions for Laguerre and Hermite polynomials, Canad. J Math 1957;9:180-187.